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" 5. Calculate the following using the correct number of significant figures.

a) 2.34x10% +9.22x 10’ 31 ’“ID% b) 9.1x10°-1.6x 10°_1500 = 1.5 [0

6. Calculate the following using the correct n;gl.aﬁii%ant figures.
i i
9 1.54x1090.5x 109 939 (0" L5 % x|

b 19x10% @325 10%) 4:445 % [0 = @

7. Express the following numbers in scientific notation.

2) 810000 . | % lOéng) 0.000634 g (9. 54 "lD"q@c) 60,000,000g (0 * 10166

8. State the number of significant digits in the following measurements.

a) 3218kg L{ b) 60ﬂ8%kg 6 c) 0.000534 kg 3

9. Add/Subtract as indicated and round the answer using the correct number of significant digits.

) 43218g+27g 45 41%g= 45 % )2734g+690¢ 34140 = 54 2g

b) 107 km+ 0,608 km U 10Em=LUdM ¢ 1435 m_goom S:HUSM= S.4(m

¢) 186.4 kg—57.83 kg (1LD.9] Kgill%.wkq 185265 +4.7g Y)‘f.q(fz@ = quO@

10. Multiply/Divide as indicated and round the answer using the correct number of significant digits.

11.0923 2 14.4244
2) (5.108 m)(4.2107 m ) _(21.5\ m*) d)74.50 499 _ /4.9
4146 20> [ X4'A)

@

b) (1.67x 102 m)(8.5x 10° m

) 032x 1450x 120050 % oD
2 44U xp" cmt L0

¢) (26x 10°cm)(9.4 x 10° cm f) 24.1+0.005




